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Topic 1, Volume A

Which of the following topologies should an engineer consider when designing a wireless
LAN?
 
 
A. Bus 
B. Star 
C. Mesh 
D. Token ring 
 

Answer: C

 

 

Joe, a user, has noticed that his corporate-owned device has been stolen. Which of the
following actions should Joe take FIRST?
 
 
A. Report the incident 
B. Revoke the device certificate 
C. Monitor device activity 
D. Capture logs 
 

Answer: A

 

 

Topic 2, Volume B

Lightning strikes and damages the only cellular tower used for wireless coverage at a
remote vacation resort. Which of the following design elements would have guaranteed
uninterrupted wireless communication at the resort?
 
 
A. Implement a cold site 
B. Implement redundancy 
C. Implement a warm site 
D. Install an enterprise UPS at the tower site 
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Answer: B

 

 

The main difference between CDMA and TDMA is that:
 
 
A. TDMA splits the channel into sequential slices while CDMA uses wide spectrum. 
B. TDMA uses a single tone to generate modulation while CDMA uses multiple channels
modulation. 
C. TDMA only works in GSM systems while CDMA does not support GSM. 
D. TDMA uses carrier sense multiple access while CDMA uses collision detection. 
 

Answer: A

 

 

A replicated network at another location is used as part of which of the following?
 
 
A. Network backhauling 
B. RAID 1 
C. Incident response 
D. Disaster recovery 
 

Answer: D

 

 

Joe, a user, has multiple devices and is continually locked out of his user account. In which
of the following locations should the administrator look to determine which device is MOST
likely causing the problem?
 
 
A. Firewall Logs 
B. Access Control Server 
C. Access Point 
D. Access Control List 
 

Answer: B
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An organization needs to configure and deploy dozens of new mobile devices at a central
location for use at various off-site locations. Which of the following deployment methods
should the organization implement?
 
 
A. Image and deploy 
B. Server push of applications 
C. Mandatory Access Control 
D. Remote control of devices 
 

Answer: A

 

 

Which of the following technologies is considered PAN?
 
 
A. HSPA+ 
B. Bluetooth 
C. Edge 
D. IR 
 

Answer: B

 

 

Topic 3, Volume C

An administrator receives a call from an executive who had been traveling. The executive
informed the administrator that upon returning the service provider bill is much larger than
expected. Which of the following MOST likely occurred?
 
 
A. Traffic shaping 
B. Roaming 
C. Latency 
D. Content filtering 
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Answer: B

 

 

Joe, a user, reports that after installing a new application his device no longer boots
completely. Instead the device shows a vendor splash screen and immediately reboots,
repeating the process. Which of the following is MOST likely necessary to resolve the
issue?
 
 
A. Uninstall the new application causing the errors 
B. Use OTA to restore the phone to a previous state 
C. Apply a root kit to help uninstall the application 
D. Reset the device to factory default 
 

Answer: D
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